ERFHALAHERBARENELSR
Fm25% 5%

[Bifi]u Sv/h
[AlE#E8]10) 7/ LA S A2700

, BIE = _
fEE% % BIER BIEIZAT  HhEmDIKEE
Tm 50cm 5cm
FE—INERR 2013/5/10 0.05 0.05 005 | #Y3UUK +
BTN 2013/5/9 0.07 0.07 006 | T3k +
RN 2013/5/17 0.05 0.05 005 | Y3UUK +
IR/ 2013/5/9 0.05 0.05 008 | U3k +
AL NERR 2013/5/9 0.04 0.04 004 | JFUUKR +
AENER 2013/5/7 0.05 0.05 005 | T3k +
AL B TINER 2013/5/9 0.06 0.06 006 | YZUK +
= E L/ 2013/5/10 0.07 0.07 007 | T3k x
RF/NER 2013/5/9 0.05 0.05 006 | YZUK +
LB RIDFERR 2013/5/17 0.05 0.04 004 | T3IUK x
FARNERR 2013/5/10 0.08 0.08 008 | YZUUK +
A ARNERR 2013/5/9 0.06 0.06 005 | T3k x
miEm 2013/5/9 0.06 0.06 006 | YZUK +
BRFRER 2013/5/17 0.04 0.05 005 | T3k x
AL AR 2013/5/10 0.10 0.10 011 | JZVUK +
mEPER 2013/5/9 0.07 0.07 007 | T3k x
b Bl A Resle 5 2013/5/10 0.08 0.09 008 | YZUUK +
AFRPER 2013/5/8 0.08 0.08 007 | T3k x
STl 2013/5/9 0.05 0.06 006 | YZUK *
—INFEREE 2013/5/8 - 0.08 = 0
MNP ERERE— 2013/5/7 - 007 - =R
NP EREEE= 2013/5/17 - 0.07 = =N
BRNZERBEE— 2013/5/8 - 0.08 - ERN
RENZERBEE 2013/5/8 - 0.08 = 0
BRNZEREEE= 2013/5/17 - 0.09 - ERN
WRNFEREE 2013/5/17 - 0.08 = 0
ZINEEREE 2013/5/8 - 0.07 - =R
ZINFEEREE 2013/5/8 - 0.06 = 0
EHLFEREEE— 2013/5/8 - 0.06 - o
E EHLFEREEE 2013/5/8 - 0.05 - =R
ﬁ MEENEEREE 2013/5/8 - 0.07 - =l
= HIABRDNEFEREE 2013/5/8 - 0.06 = 0
= MILNFEREE 2013/5/14 - 0.08 - =R
FRNFEREE 2013/5/10 - 0.07 = 0
MENFERETE 2013/5/9 - 0.06 - EN
mERPNEEREE 2013/5/8 - 0.07 = 0
—INBULFHIST 2013/5/8 - 0.07 - =R
BENHU-FI5T 2013/5/8 - 0.08 = 0
ZINBULFIST 2013/5/8 - 0.09 - =R
HALETENHT>FI5T 2013/5/8 - 0.08 = =R
BFNZEREE 2013/5/8 0.22 0.26 031 | Ethrhsk FARI7ILE
BHLUNFEREE 2013/5/8 0.09 0.07 008 | Bt x
SINEEREE 2013/5/8 0.11 0.09 010 | AL ALILH
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[Bifi]u Sv/h
(A28 0) 7/ LA S A2700

= _ S BIES i e
= fEE% % BIER BIEZAT | HEDIKRE
Tm 50cm 5cm
1{RFRER IEH = = = EE +
2 KLEREE 2013/5/15 0.12 0.11 0.11 B RE +
[ 3 HREE 2013/5/15 0.10 0.10 0.10 B +
L 4 R EE 2013/5/15 0.09 0.10 0.09 B +
g 5 W ARREE 2013/5/15 0.07 0.07 0.08 EBE +
& 6| RHVRER 2013/5/15 0.05 0.05 0.05 EE +
== 1t ERER 2013/5/15 0.11 0.09 0.08 5 *
8| <KL& 2013/5/15 0.07 0.07 0.06 R +
9 CELEHKELI— 2013/5/15 0.07 0.07 0.06 g B2
1R EE 2013/5/15 0.07 0.08 0.07 EE +
2 MEEREE 2013/5/15 0.10 0.09 0.10 EBE +
I EEREE 2013/5/15 0.15 0.15 0.12 ERE AIZ
4 EBHREE 2013/5/15 0.06 0.06 0.06 EBE +
ﬁ 5 DEAREE 2013/5/15 0.08 0.10 0.10 ) +
f— 6 HBREE 2013/5/15 007 0.07 007 ERE +
é I RXEENEREER 2013/5/15 0.09 0.07 0.07 ERE x
E| 8 IIMZEELZFREAEBREE 2013/5/15 0.06 0.06 0.06 E5E +
9TV IUHREE 2013/5/15 0.07 0.07 0.08 EE +
10 DIEHHRER 2013/5/15 0.09 0.07 0.09 EBE +
1| BHNRER 2013/5/15 0.06 0.06 0.07 ERE Zith
12|[EF2ESVRFHUVIHREER 2013/5/15 0.05 0.05 0.05 ERE AIZ
11 OIFZHHR-OIEZDOFFEER 2013/5/15 0.12 0.12 0.13 EE +
2 UH U FHEE 2013/5/15 0.09 0.09 0.08 EE B
I EEHHE 2013/5/15 0.07 0.08 0.07 ERE +
4L & HE 2013/5/15 0.08 0.08 0.08 ERE +
5 At aES 4R 2013/5/15 0.08 0.07 0.08 ERE +
6| OI=HHE 2013/5/15 0.11 0.11 0.12 ERE +
7| R TR 2013/5/15 0.08 0.07 0.07 ERE +
8| T—TILHFHE 2013/5/15 0.08 0.08 0.10 ERE +
9 KLDHHE 2013/5/15 0.08 0.07 0.08 EE +
10|tk & $hH#E 2013/5/15 0.08 0.08 0.07 ERE *
1 EBRFREAORLAR 2013/5/8 0.06 0.07 0.08 R =
2 BB TFEREOALE 2013/3/4 = 0.06 - rha B
3| XLEH 25 AE 2013/3/6 - 0.10 - = +
A 4 KXLEF4ELE 2013/5/8 0.16 0.18 0.20 Rk *
B 5 B ILAL A E R TEH - 0.00 - R FAI7ILE
R 6 HBRFSNHULEES 2013/3/4 - 0.12 - EaES avHy—k
23 T ERBFREALE 2013/3/4 - 0.08 - B *
% 8 HBRFHELAE 2013/2/13 - 0.14 - rh +.=
¥ 9 1R 1ERR I 2013/3/5 - 0.21 - thk +.=
i 10 FEELE 2013/5/8 0.20 0.22 0.19 Hha +
% 11| &EREESHLR 2013/3/6 - 0.05 - tha =
12 iRFEMARAE 2013/3/12 - 0.10 - thof =]
13| EHMRALE 2013/3/6 0.19 - R x
14 MF B FELDIEVIS B = 0.00 - hf =
15| BB THELLE 2013/2/28 - 0.12 - = x

—2- HRFHBATRE R RE



[Bifi]u Sv/h
(A28 0) 7/ LA S A2700

=
= e AR AR ATBF  HEORE
Tm 50cm 5cm

16| BB FHERAR PRz = 0.00 = R +

17| BLHEAR 2013/3/7 - 0.11 - g *

18| FELNES A E 2013/3/7 - 0.08 = g B

19| L BRIFREA N E Brgeh - 0.00 - PR "

20 AFRBHITEOLE 2013/3/17 - 0.08 = R +

21 ZEALXE 2013/3/6 - 0.10 - g B

22 | #% FEBA#x th 2013/3/8 - 0.13 = g B

23 BB LR 2013/3/5 - 0.25 - ik =
24 EWMASNE 2013/3/5 - 0.21 = R 128—OyEy

25| K1 S0E 2013/3/17 - 0.10 - g B

26| FNFIXELE 2013/3/5 - 0.09 = ef 3 =

21 BRFZEFARELE 2013/3/17 - 0.10 - thk =

28 RFZEFARILLE 2013/3/17 - 0.11 - = B

29 BRFZEFARBELE 2013/3/17 - 0.10 - thk =

30 EHARE Rz = 0.00 = ef 3 =

31 EHEEAE 2013/3/6 - 0.07 - REPR x

32| DKLEH3ELE 2013/3/6 = 0.07 = FhaR *

33 KLEH5E5LAE 2013/3/12 - 0.09 - REPR x

34| KL 5 E 2013/2/25 - 0.09 - REZPR T

N 35| XLEHE7ELE 2013/3/6 - 0.09 - EEE S =

36 D<LEY A/ X NE 2013/3/6 - 0.1 - CEY +

- 37| RF LA RANE 2013/3/6 - 0.24 SRS LES =

:'%; 38 dLERIFAL N E 2013/3/6 - 0.11 = ef 3 "
% 39| L ERIFFE A B B - 0.00 - EY TLFVTHE
el A0 ARFERLE 2013/3/6 - 0.16 - BEBR | qvs-nvEy

=3 N ERFUOBLSLE 2013/3/14 - 0.29 - REPR x

~ 2 ZBFYIIL0E 2013/3/4 - 0.13 - IREHPR +
B ERTHELE 2013/3/4 - 0.09 - R avHy—k

44| BB TFHRIELE 2013/3/4 - 0.13 - tha e

45 AL AR 2013/3/17 - 0.20 - REPR +

46 MRF LA E Brich = 0.00 - IREHR )

471 P LEHELAR 2013/3/17 - 0.20 - REPR +

48|18 7 fit F k3 2013/3/17 - 0.29 - HFFEOFHA &

49| AILFE AR 2013/3/17 - 0.20 - BEEEYO B

50 B ILfEAE 2013/3/17 - 0.23 - IREHPR +

51 BILEAR 2013/3/7 - 0.21 - ERWEA +

52 AFRHITHALE 2013/3/17 - 0.08 - IRiGHhR =

53 K LFIBLE 2013/3/6 - 0.12 - R x

54| RF L2 frgh = 0.00 = PR "

55| R FILERAE 2013/3/6 - 0.18 - g =

56 ZHE—2E 2013/3/6 - 0.11 - R =]

57 EFRAE PR - 0.00 - R x

58 RIS NE 2013/3/17 - 0.09 = PR "

59 il R4S E 2013/3/17 - 0.09 - R x

60 AR5 AE 2013/3/17 - 0.10 = PR "

61| iRV RISAE 2013/3/7 - 0.08 - g B

—3- HRFHBATRE R RE



[Bifi]u Sv/h
(A28 0) 7/ LA S A2700

= _ —— BIES i e
= e HER BIEZFT  HEOIKEE
Tm 50cm 5cm
62| FFDHAE 2013/3/5 - 0.16 = R +
63| EHIEANE 2013/3/5 - 0.13 - =E +
64| EH25NE 2013/3/5 - 0.08 - R B
65| AR2S A E 2013/3/17 - 0.12 - b =1
2 66|1=T D L5 2013/3/5 - 0.07 = R +
UEF A/NE 2013/3/5 - 0.19 - b +
PR 68 LocELE 2013/3/5 - 0.08 - R B
¥ e 2013/3/5 - 0.10 - EaES L3
% e 2013/3/5 - 0.10 - thg =1
sl 7 ERAR 2013/3/5 - 0.29 - Cop S B
U 72| F/ i 2013/3/5 = 0.24 - rha ae
% PRIE =3 N E=NES] 2013/3/5 - 0.06 - R =1
74 |BA E #kith 2013/3/5 - 0.21 = b= L[] avaoy—k
75| R F R R AL kit 2013/3/17 - 0.21 - EXi +
76| DK LEF2 B fiith 2013/3/6 - 0.32 - = e
77| 2<LEF 1 S%ith 2013/3/6 - 0.27 - thf =]
18| XZ DL 2013/3/14 - 0.15 = ef 3 B
19 EEFILSILAE 2013/5/8 0.24 0.25 0.29 thak B
80| EiF &L~ E rEIEG = 0.00 = R =
81| KEIFEhRANE 2013/5/8 0.10 0.08 0.08 thf =]
82 I EHAE 2013/3/8 = 0.07 = R *
83 EIFETELE 2013/3/8 - 0.28 - R =]
84 LM AR 2013/3/8 - 0.22 - R B
85 REEBHEALE 2013/5/8 0.09 0.08 008 | SALESHEE +
86| XREEmMAE 2013/3/8 = 0.11 = R *
87 EAGRAE 2013/3/5 - 0.22 - Rk B
88| RCALAE 2013/3/4 - 0.20 - EEEfhE *
A 89| R2ENE 2013/3/4 - 0.27 - = +
90 R4S LE 2013/3/4 = 0.07 = R *
I 91 EH/1B5LE 2013/3/4 - 0.07 - g =1
X BRAEEGEAEE 2013/3/4 = 0.08 - hR E
93 i HFASESAE 2013/2/26 - 0.08 - sk =1
2 I 2013/3/4 N 007 - =
i&f 05 £ B A 52 AR 2013/3/5 T ote o g +
_ 96| X FH A6 ENE 2013/3/5 = 0.19 = R T
97| 2HB7TELE 2013/3/5 - 0.15 - R x
98 FILEHRAE 2013/3/11 - 0.21 = R +
9 FILEELE 2013/3/8 - 0.10 - g +
100 EBRIAAE 2013/3/5 - 0.20 - thof =]
101 B TFILE 2013/3/5 - 0.14 - R avyy—t
102 EERHAE frIEh - 0.00 - = =]
103| FrFERIAE 2013/3/8 - 0.20 - R B
104 FrF152E 2013/3/8 = 0.18 = R T
105 REBRFSELNE 2013/3/8 - 0.08 - R x
106 REBLAE 2013/3/8 - 0.10 - hf +
107 () REAE 2013/3/4 - 0.28 - g B

-4~ HRFHBATRE R RE



[Bifi]u Sv/h

(A28 0) 7/ LA S A2700

(MEFohHM) E»

(MF=E) B

= _ S BIES i e
= fEE% % BIER BIEZAT  HhEOIKEE
Tm 50cm 5cm

108 R15AE 2013/3/4 - 0.09 = g B
109 R3ISLE 2013/3/6 - 0.07 - =E +
110| R5SE 2013/3/4 - 0.19 = R +
11 R6SLE 2013/3/4 - 0.22 - =E +
12| R152E 2013/3/4 - 0.09 = g B
113 RS LE 2013/3/4 - 0.23 - g =1
114 RIS AE 2013/3/4 - 0.26 = g B
115 R10E 2 E 2013/3/4 - 0.13 N gk I/ g%
116 R11S2E 2013/3/4 - 0.14 = P JLAHE
NI INEAE 2013/3/8 - 0.24 - hSREEA =
18 BB FIERLE 2013/3/4 - 0.17 - EEEfhHE A2
M EEFILARBARE 2013/3/5 - 0.16 -| EELRHPR x
120 EFIL/NEAE 2013/3/8 - 0.24 = PR +
121 | FEIFAL A E 2013/3/5 - 0.25 - g T
122 | FETERE A 2013/3/5 - 0.20 = ef 3 =
123| B A E 2013/3/5 - 0.22 - thf =]
124| F LT ELNE 2013/3/8 - 0.11 = PR +
125 REBHAE 2013/3/8 - 0.15 - g *
126| & EFILATIR 2B 2013/3/5 = 0.15 = Rk *
121 REBRFISLE 2013/3/17 - 0.08 - R =]
128 REBRFI452E 2013/3/8 = 0.16 - R ae
129 REBRTF250E 2013/3/8 - 0.12 - thf x
130| FUE L LAE 2013/3/8 - 0.20 = Rk *
131 ET2E 2013/3/8 - 0.20 - g =
132 FLERLAR 2013/3/15 - 0.10 = ef 3 "
133 FrFRAOAE 2013/3/8 - 0.25 - g =
134 | HERR AN E 2013/3/8 - 0.18 - thf =
135 EEFTROH 2013/3/14 - 0.17 —|\UFYEig sk B
136 AR 2013/3/8 - 0.11 - | BB R *
137 |Is FIR5 2013/3/8 - 0.13 - g a
138 | Z EF LUK A fR kit 2013/3/5 - 0.15 - o 3e
139|hirEAS AR 2013/5/8 0.18 0.18 0.19 EEE S +
140t Eh R AR 2013/5/8 0.15 0.17 0.15 E =
141t &8558 2E 2013/3/8 - 0.18 - g b=
142 it B 6 52 E 2013/3/11 = 0.22 - R B
143t &7 5 2R 2013/3/11 - 0.22 - =E =1
144 HEALE 2013/3/11 - 0.16 - thof =1
145 HRFELDHE VIS 2013/3/11 - 0.10 - B FAI7ILE
146 R I MY A E 2013/3/11 = 0.19 = Hha +
147 | hLRE SR A E 2013/3/11 - 0.20 - tha 245
148| HEYBZEL DB VIS 2013/3/11 = 0.08 = Hha +
149 | FIHR A E 2013/3/11 - 0.19 - @EAQD TREGE
150 HEHRDH 2013/3/14 - 0.12 ~ 1RV TFOESHR *
151 I EEID AR 2013/3/11 - 0.15 - g =1
152 it &84S 20E 2013/3/11 - 0.17 - g R A =
153|idt &28 A E 2013/3/11 - 0.14 - PR x
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[Bifi]u Sv/h
(A28 0) 7/ LA S A2700

= _ S BIES i e
= fEE% % BIER BIEZAT | HEDIKRE
Tm 50cm 5cm
154 it &35 E 2013/3/11 - 0.17 = R =
155t B 150 E 2013/3/11 - 0.17 - ==} =1
156 It &85 E 2013/3/11 - 0.20 = R =
157 |k = AEAE 2013/3/11 - 0.15 - b b=
158 | R FHTAE 2013/3/11 - 0.22 - tha B
159 | piRsA S EANE 2013/3/11 - 0.17 - b b=
160 | il 2 2 112 2013/3/11 - 0.15 = R *
161|i#dL & #xith 2013/3/11 - 0.14 - ik +
162 | FIARIIP S5 2 E 2013/5/8 0.15 0.16 0.17 P B
163 RRBEESLE 2013/5/8 0.21 0.22 0.23 thf B
164 FEF AN HARE 2013/5/8 0.13 0.11 0.07 Rk - o
165 | FT AR A& 2 E 2013/3/11 - 0.20 -| iR x
166| DA E 2013/3/11 - 0.18 = ef 3 =
167 FIRAFLE 2013/3/12 - 0.13 - thf +
168 | FT A& 15 23 Bl G A & I ki) 2013/3/12 - 0.17 = ef 3 =
169 DELDAE 2013/3/11 - 0.19 - g =
170| FD A E 2013/3/12 - 0.20 = ef 3 =
1 FHRRELE 2013/3/12 - 0.18 - thf =]
172 FIAREELE 2013/3/11 - 0.16 = P E R
173 AR SLAE 2013/3/11 - 0.20 - hk =
174 AP Y DR AE 2013/3/11 - 0.16 - rha B
175 HFRTOKRLE 2013/3/11 - 0.18 - g =
176 IAEZLNE 2013/3/11 - 0.17 = R =
177 FIAKIR TR 2013/3/12 - 0.18 - Hhf =]
178 FT AR IRE itz 2013/3/11 - 0.11 = R FARAI7ILE
179 LR AR A E 2013/3/12 - 0.18 - =E B
180 LRt E A E 2013/3/12 - 0.13 = R T
181 [IEt FE LD WV 2013/3/11 - 0.13 - = +
182 &R A E 2013/3/11 - 0.20 - = e
183| &/ BT ik 2013/3/12 - 0.20 - R 2
184 | 7% /#if& 2013/3/12 - 0.19 - = B
185 B/ HLE 2013/5/8 0.15 0.17 0.16 g =
186 | ftkma N E 2013/5/8 0.20 0.23 0.23 E "
187| RF A E 2013/3/12 - 0.16 - R +
N RESEEENE] 2013/3/12 - 0.13 = R =
189 7t 152 E 2013/3/12 - 0.13 - th +
AN 190 7H{kEEs AN E 2013/3/12 - 0.14 - = =)
E 191 #1852 E 2013/3/12 - 0.17 - =E B
Hh 192 ftemi RO 2013/3/12 - 0.21 -| EEDLRBZHR "
X REHEEAE! 2013/3/12 - 0.14 - R H
el 194 KRTAEAAE 2013/3/12 - 0.07 - thof =1
195 =3} EF N E 2013/3/12 - 0.16 - P =
196 R THAE 2013/3/12 - 0.18 - = B
197 &EF 2R 2013/3/12 - 0.17 - EEEfhHE x
198 FFIE25 A E 2013/3/12 - 0.14 - | BB R (FO) B
199 FHEISAE 2013/3/12 - 0.19 - R B

-6- HRFHBATRE R RE



[Bifi]u Sv/h
(A28 0) 7/ LA S A2700

= =
B 2= 5% mER i ]:;: o MEST BEORE
200 FEHE4FSAE 2013/3/12 - 0.16 = g B
201 FFB1SL4E 2013/3/12 - 0.15 — | e ok (B¢ A AR =
202 |t LB AR 2013/3/12 - 0.10 = R +
203 | fiEE| N E 2013/3/12 - 0.15 - th +
NIl 204 FiEEE T FELDBUE 2013/3/12 - 0.08 - EEEfHE Ef
M 205 #ik22 A E 2013/3/12 - 0.13 - R +
A 206 | #7252 F 2013/3/12 - 0.08 = g B
E 207 FERBAE 2013/3/12 - 0.18 - g B
H#h 208 itk kK RELE 2013/3/12 = 0.08 - =28 ae
=4 209 F{EERT T AR 2013/3/12 - 0.19 - g B
el 210 AR5 AE 2013/3/12 - 0.14 = ef 3 =
211 | [Rth Fafkith 2013/3/12 - 0.17 - g (] =
212 | R Hh Bk i 2013/3/12 = 0.21 = Rk =
213 KiFfGHh 2013/3/12 - 0.16 - AOfhE B
214 | B E Firfxith 2013/3/12 = 0.14 - ABfhE *
1 FETBRY—EXR 25— 2013/5/16 0.09 0.09 0.09 HAO FAI7ILE
2 FIRITHRY—ER 22— 2013/5/16 0.10 0.11 0.13 HAO L E=DESYY)
3 LT —E R 2— 2013/5/16 0.13 0.14 0.13 HAO FAI7ILE
4B ITRY—ERX 24— 2013/5/16 0.10 0.10 0.10 HAOD TRAI7IVE
5 REBITHRY—ERE 42— 2013/5/16 0.09 0.11 0.14 HAO S S=DE YY)
6| DALEITHRY —ERE 42— 2013/5/16 0.14 0.16 0.17 HAOD TRAI7IVE
1 EBRFIHRY—EREVE— 2013/5/16 0.13 0.14 0.17 HAO 128—0vELy
1 RP R 2— 2013/5/7 0.14 0.14 0.18 BAE3 L] avyy—k
2 AFRIER L 2— 2013/5/17 0.13 0.14 0.15 BN avHy—k
3 XEBIERE 42— 2013/5/17 0.12 0.11 0.11 BAE3 L] avyy—k
4 L& Rt 52— 2013/5/7 0.14 0.18 0.22 B[] avo—k
5\ R 2— 2013/5/17 0.09 0.09 0.09 BAE3L] avy)—k
6 FiErmaER 52— 2013/5/17 0.09 0.11 0.09 BN avHy—k
7 BB FIEB 2 24— W ARAREE 2013/5/7 0.11 0.11 0.10 B3] avy)—k
8 BT B 5— DLEARE 2013/5/17 0.11 0.13 0.16 | 2FXBI#T avyy—k
9k EMREY2— 2013/5/17 0.10 0.12 0.14 LB AT a9 —k
10| ftE RV 2—RATF—Yavh—IL 2013/5/7 0.06 0.06 008 | 2FAO® avHy—k
1\ EFBFrEaEEE 52— 2013/5/7 0.05 - - 8F ERN2MIL
12| HVCHETSY 2013/5/17 0.15 0.17 0.20 BN avHy—k
133 2—2E 0T 2013/5/17 0.13 0.13 0.14 BAE3 L] avyy—k
14 8BE2—SEDRE 2013/5/17 0.08 0.11 0.09 B avyy—t
11 HoEE 2013/5/17 0.10 0.10 0.11 B[] i
2 [EEERULE2— 2013/5/17 0.20 0.23 022 | J3UUF <
3| 2Bt 42— DDLiE 2013/5/8 0.10 0.10 0.10 B[] FTARAI7ILE
4 EEp R 52— 2013/5/8 0.22 0.21 0.25 b FAI7ILE
5 {RFfEitt 42— 2013/5/8 0.22 0.26 031 | EfgiFhsk | PRI7Ik
6| {RfEE 72— 2013/5/8 0.10 0.12 012 | BIEIZHAR | FRI7ILE
7K B 2T 2013/5/8 = 0.06 - 1EEHe=E 73
11 7ERA 2013/5/9 0.17 0.17 0.18 BLt it
2 At XN R EE 2013/5/9 0.14 0.19 0.31 EYE 15 EE
I MREEMEMHIL A 5 EE 2013/5/9 0.10 0.11 0.11 | FIFABREER iR
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[Bifi]u Sv/h
(A28 0) 7/ LA S A2700

= _ S BIES = e
= fEE% % BIER BIEZAT | HEDIKRE
Tm 50cm 5cm

4| T RREERIENE 2013/5/9 0.12 0.12 0.13 | ErEIGfHA B

5 SDEMLE 2013/5/10 0.10 0.11 0.12 EtEi5 FARI7ILE

6| 2 AN i AR (B ) 2013/5/15 0.06 - - BE1RE

7/ [BFHIBIE 2013/5/15 0.08 0.09 0.08 | Egtthohily +

8| X{LEAEE I = 2013/5/15 0.13 0.16 0.22 AQ4 Fl- L

9T ENE 2013/5/15 0.06 - - 1EXER

10| B SCFEE 2013/5/15 0.10 0.10 0.09 ErEi5 FARI7ILE

N EEEHBRER 2013/5/15 0.09 - - B

12| BHLREE 2013/5/15 0.15 0.17 0.16 | B aE

1 BARREELES (AEYDIEE) 2013/5/13 0.14 0.15 0.15 g a2

2| EARMGES A5 (RAR—YR15) 2013/5/13 0.11 0.13 0.15 PR +

3| BB FHAOEFIKG 2013/5/13 0.07 0.07 0.07 | ABEHYER—R4H3E x

4 MRV FE KIS 2013/5/13 0.12 0.12 0.13 Hho Y- 2

5 FARE D FFHIKG 2013/5/13 0.05 0.06 005 |EhVRER—RfH5E x

6 AL Ty Ti5 2013/5/13 0.14 0.17 0.19 Hho Y- 2

7| 1B S Fr Bk 5 2013/5/13 0.10 0.10 0.09 | EZhUFR—R{HiE x

8| LT % B HIEEN L5 (RiE) 2013/5/13 0.12 0.13 0.13 g Y- 2

9| FiET % B MBEELIE (3 EIS KA 2013/5/13 0.11 0.11 0.12 B B

10| T RAE£E (2 EHaT) 2013/5/13 0.09 0.09 0.11 b= L[] Oz ENEXY)
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